Sr No.

MSW Social Work

=

Find the next term in the series: BMO, EOQ, HQS, ?

Altl

KSU

Alt2

LMN

Alt3

SOV

Alt4

SOwW

Choose word from the given options which bears the same relationship to the third word, as the first two bears:
Misogamy: Marriage:: Misogyny:?

Altl

Children

Alt2

Husband

Alt3

Relations

Alt4

Women

Select the lettered pair that has the same relationship as the original pair of words:
Indolence : Beaver

Altl

Elegance: Peacock

Alt2

Ferocity: Lamb

Alt3

Passivity: Cow

Altd

Joviality: Hyena

Select the lettered pair that has the same relationship as the original pair of words:
Man : Humanity

Altl

Frame: Picture

Alt2

Scholar: Books

Alt3

Flowers: Fragrance

Alt4

Drop: Ocean

Choose the set that has the same relationship as in the original:
Horse : Foal : Mare

Altl

Sheep: lamb: Goat

Alt2

Lion: Cub: Den

Alt3

Man: Child: Woman

Alt4

Cat: Kitten: Puppy

6

Spot the defective segment from the following:

Altl

| didn’t expect

Alt2

this kind of treatment

Alt3

from your hands

Altd

this morning

7

Many rural children go to school --------- .

Altl

by foot

Alt2

by walk

Alt3

on foot

Alt4

on their feet




8|------- is facing the threat of extinction.

Alt1|Tigers

Alt2|Tiger

Alt3[The tiger

Alt4|A tiger

9(Choose the option closest in meaning to the given word:
TERSE

Alt1|concise

Alt2|curt

Alt3|rude

Alt4|poetic

10|Choose the antonymous option you consider the best:
RETICENT

Altl|communicative

Alt2|clamorous

Alt3|reserved

Alt4|dormant

11] In each of the following questions some statements are followed by two conclusions (i) and (ii). Read the
statements carefully and then decide which of the conclsions follow beyond a reasonable doubt. Mark your
answer as

Statement: | am a Kashmiri Pandit and feel proud that Indira Gandhi belonged to the same community
Conclusions: (i) Indira Gandhi is proud of being a Kashmiri Pandit
(ii) All Kashmiri Pandits feel proud of Indira Gandhi

Alt1| If only conclusion (i) follows

Alt2| If only conclusion (ii) follows

Alt3| If neither conclusion (i) nor (ii) follows

Alt4|If both the conclusions follow

12| What value should come in place of question mark (?) in the following number series?
48, 7,94, 123,156, 193

Altl|74

Alt2]65

Alt3|69

Alt4|77

13| If in a certain language CARROM is coded as BZQQNL, which word will be coded as
HOUSE ?

Alt1|IPVTF

Alt2|GNTRD

Alt3|INVRF




Alt4|GPTID

14|Teeth : Chew in the same way as
Alt1{Mind : Think
Alt2|Food : Taste
Alt3|Sweater : Heat
Alt4|Eyes : Flicker
15|The following information is given: Eight persons P, Q, R, S, T, U, V and W are sitting around a rectangular table
in such a way that two persons sit on each of the four sides of the table facing the centre. Persons sitting on
opposite sides are exactly opposite to each other. S faces North and sits exactly opposite W. T is on the
immediate left to W. P and V sit on the same side. V is exactly opposite Q, who is on the immediate right of R. U
is next to the left of S.
Who is sitting opposite to P ?
Altl|V
Alt2|S
Alt3(T
Alt4|R
16|There are 4 prime numbers written in ascending order. The product of the first three is 385, and that of the last
three is 1001, Find the first number
Alt1|5
Alt2(11
Alt3]29
Alt4(19
17|Mean of the first 10 even numbers is
Alt1|12
Alt2(11
Alt3|14
Alt4(9
18]If you were to spell out the numbers, how far would you have to go before encountering the letter 'A'?
Alt1{91
Alt2]21
Alt3(51
Alt4|101
19]|A man starts from his office and goes 5 Kms east, Then he turn to the left and again walks for 3 Kms, he turns
left and walks 5 kms. At what distance is he from the starting point?
Alt1|3
Alt2|4
Alt3|6
Alt4|7




20|The first person is 100cm tall. Each subsequent person is 20% taller than the previous person. What is the
Median height of 5 persons.

Alt1{173

Alt2|120

Alt3]|144

Alt4|207

21|The founder of social work education in India?

Alt1|Friedlander

Alt2|Jawaharlal Nehru

Alt3|Rajendra Prasad

Alt4|Clifford Manshardt

22|Which one of the following is a principle of social work?

Altl{Community Services

Alt2|Self determination

Alt3|Social planning

Alt4|Social development

23|International Social Work Day is celebrated in the month of

Altl{January

Alt2|February

Alt3|March

Alt4|April

24|Central Social Welfare Board was established in

Alt1]1952

Alt2|1953

Alt3[1954

Alt4|1955

25|Sriniketan Experiment was started by

Alt1{Raja Ram Mohan Roy

Alt2|Amarthya Sen

Alt3|Rabindranath Tagore

Alt4|P. L. Brayne

26|Satyashodak Samaj was founded by

Alt1|Dr. B. R. Ambedkar

Alt2|Jagjivan Ram

Alt3|Jyotirao Phule

Alt4|Anniebesant

27|Social Work believes in

Alt1|Self image

Alt2|Self help

Alt3(Self goal




Alt4|Self esteem

28

The author of the book “Community welfare organization: Principles and practice”

Altl

Marry Richmond

Alt2

Maclver

Alt3

Arthur Dunham

Altd

M.N. Srinivas

29

InternationalWomen's Year was celebrated in

Altl

1974

Alt2

1975

Alt3

1976

Altd

1977

30

Trusteeship concept was developed by

Altl

Gandhiji

Alt2

Jayaprakash Narayan

Alt3

Jawaharlal Nehru

Alt4

Vinobabhave

31

It is essential for community organiser to have comprehensive knowledge of

Altl

State Resources

Alt2

National Resources

Alt3

Community Resources

Alt4

District Resources

32

Social worker addressing mass problems is known as

Altl

Social Welfare

Alt2

Social service

Alt3

Social action

Alt4

Social study

33

1098 is a toll free number for helping

Altl

Elderly

Alt2

Women

Alt3

Children

Altd

Fire Victims

34

The year 2011 was celebrated as

Altl

International year of Youth

Alt2

International year of Indigenous People

Alt3

International year of Biodiversity

Alt4

International year Family Farming

35

The book “Community Organisation in India” is written by

Altl

M.S. Gore

Alt2

K.D. Gangrade




Alt3[H.Y.Siddique

Alt4{M.M. Jacob

36|The Moon is a

Alt1|Comet

Alt2|Satellite

Alt3|Star

Alt4|Planet

37[Who is popularly known as 'Missile Man of India'?

Alt1|Vikram Sarabhai

Alt2|A.P.J. Abdul Kalam

Alt3|Sir. C.V. Raman

Alt4|H.). Baba

38[National Science Day is observed on

Alt1{29th February

Alt2|28th February

Alt3|28th March

Alt4{29th March

39(PRIs means

Alt1|People's Representative Institutions

Alt2|Panchayat Raj Institutions

Alt3|Panchayat Representative Institutions

Alt4|Participatory Research Institutions

40(SGSY is a programme related to

Alt1|Health

Alt2|Education

Alt3|Poverty alleviation

Alt4|Population reduction

41|PRA stands for

Alt1|Participation in Rural Areas

Alt2|Participatory Research in Action

Alt3|Participatory Rural Administration

Alt4|Participatory Rural Appraisal

42|Which one of the following article in the Indian Constitution enables the State to make special provisions for
women and children?

Alt1|Article 13(2)

Alt2|Article 14(1

)
Alt3|Article 15(3)
Alt4|Article 16(4)

43|Which of the following is not a principle of social case work?




Altl

Acceptance

Alt2

Confidentiality

Alt3

Individualization

Alt4

Guided group interaction

44

Person associated with group work

Altl

Perlman H.H.

Alt2

Richmond M.

Alt3

Wadia A.R

Alt4

Trecker H.B.

45

The Principles of social case work are :
1. Joint Decision Making

2. Acceptance

3. Non- Judgemental Attitude

4. Individualisation

Altl

1,2,3

Alt2

1,2,4

Alt3

3,4

Altd

2,3,4

46

Which of the following term is not related to research?

Altl

Sampling

Alt2

Policy

Alt3

Data Collection

Alt4

Hypothesis

47

Article 40 of the Indian Constitution relates to

Altl

Uniform civil code

Alt2

Organisation of village panchayats

Alt3

Provision of compulsory education for children

Alt4

Organization of Agriculture and animal husbandry

48

The founder chairperson of central social welfare board

Altl

Prema Kariappa

Alt2

Armaity Desai

Alt3

M. M. Patil

Alt4

Durgabai Deshmukh

49

Guided group interaction is a principle of

Altl

Group Work

Alt2

Group Dynamics

Alt3

Case Work

Altd

Social Action

50(AZ, BY, CX ?




Alt1|EF

Alt2|GH

Alt3|DX

Alt4|DW

51|Who was the first Vice - President of India ?

Alt1|Zakir Hussain

Alt2|S. RadhaKrishnan

Alt3|R. Venkata Raman

Alt4|V.V. Giri

52[Which of the following gives the output of a hard copy ?

Alt1|Speaker

Alt2|Flash Drive

Alt3|Printer

Alt4{Monitor

53|Sum of the first 100 Natural numbers

Alt1{5000

Alt2|5050

Alt3|505

Alt4|1050

54[Rani had 9 bags of apples. Each bag consists of 13 apples. A friend gave her 13 more apples. How many apples
does she have now ?

Alt1|184

Alt2|194

Alt3|130

Alt4]|140

55|Find out the mean for 7,0, 8,3,0,8,12,4 and 3

Alt1|5

Alt2

(o3}

Alt3

(o]

Alt4

D

56{The University Grants Commission appointed the first Review Committee for Social Work Education in India in
the year

Alt1{1960

Alt2]1962

Alt3[1964

Alt4|1968

57{Who propounded the Theory of Suicide ?

Alt1|D.D. Fisher

Alt2|Emile Durkheim

Alt3|Karl Marx




Alt4|G. Einstein

58|Amnesia’ refers to

Alt1|Loss of ability

Alt2|Loss of memory

Alt3|Loss of emotional control

Alt4|Loss of analytical thinking

59(Who introduced three basic models of Community Organization?

Alt1|Jack Rothman

Alt2|{W. Young

Alt3|M. A. White

Alt4|C. Turner

60|Arrange the following human needs as developed by Maslow in order
1. Physiological needs

2. Safety needs

3. Social needs

4. Self-esteem needs

Alt1|1,4,3,2

Alt2]1,3,4,2

Alt3|1,3,2,4

Alt4]1,2,3,4

61(Arrange the following stages of group in a sequential order
1. Performing

2. Storming

3. Forming

4. Norming

Alt1]3,2,4,1

Alt2(4,2,3,1

Alt3]3,4,1,2

Alt4|2,3,1,4

62|Place the following research activity in order of hierarchy.
1. Data Classification

2. Data Collection

3. Tabulation

4. Coding

Alt1]2,4,1,3

Alt2]1,3,4,2

Alt3]4,2,1,3

Alt4]1,2,3,4




63| Arya Samaj was founded by

Alt1|Raja Ram Mohan Roy

Alt2|Swami Vivekananda

Alt3|Dayanand Saraswati

Alt4| Annie Besant

64| Who is the last Governor General of India?

Altl1|{Mountbatten

Alt2|Rajagopalachari

Alt3|Curzon

Alt4|Rajendra Prasad

65| Which one of these is not a Search Engine?

Alt1|Google

Alt2|Yahoo

Alt3|Bing

Alt4|Avast

66| What does PDF stands for

Alt1|Portable Document File

Alt2|Portable Document Format

Alt3|Portable Document Font

Alt4|Public Document File

67| Ozone depletion is caused by

Alt1|Nitrous oxide

Alt2|Carbon dioxide

Alt3|Chlorofluorocarbons

Alt4|Methane

68| Greenhouse gases which is present in very high quantity is

Altl|Propane

Alt2|Ethane

Alt3|Carbon dioxide

Alt4|Methane

69|The following countries have a border with India to the North West?

Alt1|Bhutan

Alt2|Iran

Alt3|Afghanistan

Alt4|Bangladesh

70 Who among the following is not a Bharat Ratna Awadee?

Alt1|Rajiv Gandhi

Alt2|Kamaraj

Alt3|Lata Mangeshkar

Alt4|Asha Bhosle




71

On whose Birth Anniversary Swachh Bharat Abhiyan was launched in India?

Altl

Vallabhbhai Patel

Alt2

Mahatma Gandhi

Alt3

Atal Bihari Vajpayee

Alt4

Ambedkar

72

United Nations Observes World No Tobacco Day on

Altl

30th May

Alt2

31st May

Alt3

2nd October

Alt4

14th November

73

Socially defined position in a group or society is called

Altl

Role

Alt2

Interaction

Alt3

Status

Alt4

Deviance

74

The nature of Social Group is

Altl

Static

Alt2

Dynamic

Alt3

Spontaneous

Alt4

Co-operative

75

Indian Social Conference was founded by

Altl

Jawahar Lal Nehru

Alt2

M. G Ranade and Raghunath Rao

Alt3

B R Ambedkar

Alt4

T. Subramaniam

76

Socialisation means:

Altl

Developing friendship with unknown persons

Alt2

Ensuring equity in the society

Alt3

The process of internalization of social norms

Alt4

The establishment of rapport with clients

77

Force

Altl

Force

Alt2

Right

Alt3

Authority

Alt4

Privilege

78

The practice of untouchability is abolished by the Indian Constitution in Article:

Altl

17

Alt2

19

Alt3

38




Alt4|42

79|Name an unorganized group

Alt1|Crowd

Alt2|Family

Alt3|Friends

Alt4|Party

80[Empathy means

Alt1|Showing sympathy

Alt2|Entering into the feelings and experiences

Alt3|Patronizing

Alt4|Being critical of others

81|The main opportunistic infection among AIDS cases in India is

Alt1|Cancer

Alt2|Tumour

Alt3|Ulcer

Alt4|Tuberculosis (TB)

82|The book ‘Client Centred Psychotherapy’ is written by

Alt1|Rutherford

Alt2|Sigmund Freud

Alt3|Carl Rogers

Alt4{Mary Richmond

83|Which one of the following is the source of Social Policy?

Alt1|Ministry of Human Resource Development

Alt2|Indian Constitution

Alt3|Non-Government Organisation

Alt4|None of the above

84|Which is not the essential quality of the Social Worker?

Alt1|Charity

Alt2|Empathy

Alt3|Coordination

Alt4|Communication

85|The graphic representation of the choices or the association of group members using symbols for people and
their interactions is called

Alt1|Histogram

Alt2|Sociogram

Alt3{Sonogram

Alt4|lsogram

86[Which among the following is not an example of institution?

Alt1|{Family




Alt2

Marriage

Alt3

Kinship

Altd

Peer group

87

Which of the following is a Constitutional body?

Altl

Life Insurance Corporation

Alt2

Reserve Bank of India

Alt3

Finance Commission

Altd

Central Welfare Board

88

The final authority to interpret our Constitution is the

Altl

President

Alt2

Prime Minister

Alt3

Supreme Court

Alt4

Parliament

89

The gap between two neurons is called

Altl

Synapse

Alt2

Synthesise

Alt3

Dendron

Altd

Axon

90

Human Development Index is a composite of

Altl

Income, trade and investment indicators

Alt2

Poverty, human rights and unemployment indicators

Alt3

Income, health and education indicators

Alt4

Health, education and quality of life indicators

91

| gain 70 paise on Rs. 70. My gain percent is

Altl

0.001

Alt2

0.07

Alt3

0.1

Alt4

0.01

92

What is the total number of Prime numbers less than 707

Altl

17

Alt2

19

Alt3

18

Alt4

20

93

Complete the series: 100, 50, 52, 26, 28,

Altl

30

Alt2

14

Alt3

32

Altd

16




94(In 10 years, A will be twice as old as B was 10 years ago. If A is now 9 years older than B, the present age of B is:

Alt1{49 years

Alt2|39 years

Alt3{29 years

Alt4|19 years

95[How many times do the hands of a clock coincide in a day?

Alt1]20

Alt2]21

Alt3|22

Alt4|24

96|If TOUR is written as 1234, CLEAR is written as 56784 and SPARE is written as 90847, find the code for CARE

Alt1|1247

Alt2|4847

Alt3|5247

Alt4|5847

97|Statement: Should education be given by the government free of charge?

Argument I: Yes, it will help in universalization of education in the country.

Argument II: No, there will be budgetary deficit creating some new problems.

Alt1|lis strong

Alt2|only argument Il is strong

Alt3|both the arguments are strong

Alt4|neither | nor Il is strong

98|Soldier: Gun: Blacksmith: ?

Alt1|Wood

Alt2|Sword

Alt3|Iron

Alt4|Hammer

99|If84x13=8, 37x13=6, 26x11=6,
then56x22="

Alt1|39

Alt2]36

Alt3|11

Alt4|7

100]Insert the arithmetical signs in the following numerical figure: 96 3 =27

Altl|+, x




Alt2

-

Alt3

/, +

Altd

+ /




